® vy
; 83 8«
EL o i 0
5 0 Z -
e hO h.j o P) o T
| - . & 2 .~ Gu
- " c 'o_'p' e 2 =
74" MAX. O.A. FRAME WIDTH °§ 25 2o
e 223 oo
PERFORMANCE STANDARD T 338 A%
a-n EE
gR° o
® O E@
3 23 f Su
g 3d45 oo
o 5Qc g
] / / & Doon g <
zed Fibergl Door / / ;= i
/ /" £ E
/ / £ @ §m
o 2 R
[o]
"NON-IMPACT" o £ °
= o
INSWING / OUTSWING zZ 5 0
2 QO &5
= & n=
& O 4
g =i
T X X s |82
< = 2 Xl <O
o K © % o BQ;
[ N & = g
< < ol Yo
o © 2 e
> e oD
X % 3) S
EVALUATED FOR USE IN THE STATE OF TEXAS Y t‘j’ & % a
The Glazed Fiberglass Door system described herein complies with the 2018 ~
International Residential Code (IRC), Sections R301 & R609 and the 2018 Y / / e I e g g £ =
Infemational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 Vi ya == =
subject to the following condifions: / / Lg’ - %"
o| |E

1. Anchors shall be as listed and spaced as shown in the details. Anchor : 8 al |%
embedment to base material shall be beyond wall dressing or stucco. S % M) e -

2. When used in areas requiring wind-borne debris protection this product is ‘ 'g O 3 &5 "
required to be protected with an impact resistant covering that complies . ; clal4e] [Z
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. 2= x 3 § = %

3. Allowable design pressure requirements must be equal to or less than the Lg N 2 (= 335 E
design pressure rating shown in the design pressure chart, sheet 1 of this c|0o|HIRS| |

o = =
drawing. Bllo[F|3 <

4. Conditions not covered by this drawing are subject to further engineering Sl AR
analysis. sl51218/18|12

< ||| <T
DESIGN PRESSURE (PSF) | D o 212wl
TABLE OF CONTENTS E MULTIPOI N E Q i § u'ZcJ
SHEET# | DESCRIPTION A -~ NARNE
1 Typical elevations, design pressures & general notes hand el S .l S
2 Astragal details (Ultimate Flip Lever) O [FMN] %
3 Astragal details (Ultimate Multi-point) oATE: 7/03/12
4 Astragal details (Ultimate Humicane) XX INSWING SCALE:  N.T.S.
5 Door panel details (lip lite insert glazing) DWG. BY: JK
é Horizontal & vertical cross sections XX OUTSWING S B LFS
7 Vertical cross sections DRAMNG' 00
8 Frame anchoring TX—4165

SHEET 1 oF 8

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4164-65.dwg, TX-4165

© zo12 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSENDOD aNIaHng "My 21028 @

2S8LL—4 # NOLVMLSIONY 40 IIVOIINIO SNOISIAZY :
SHIINIONI TVNOISSZAONd 40 QN¥VOE SWXAL @mmpwﬁbnm.ﬁ&@g%a A8 31Va [ONJ oy . " 8_
L616°659°CL8 FON SUOUg S41 TIS_ONUVINOIYY_030av|e1/0z/1i] L || v|X|| 3|
6888 M4 0OUIPA 0EZ Xog .o.a\sb@. ATBNISSY ¥O Lavd | S971 FnIdV0 Nid TWOVAIISY MEN 0av| S1/5/5 | 2 |31t 55|
"ONI “SINVLINSNOD SNIGING S SQIOHS3¥HL_a3aavlol/cz/oi] € IRX<| | |2 | 2_
SA[AINO_037v19 _IY3SNI 0L a3siAd|gr/zo/ti] v || |5 | Ele &
SZLYOLF “3'd Svxal Vanan3 3000 _0¥I/081 8102 0L 31vddn ildlelx|2 b
F'd PIUYOS "4 UOPUAT  :hg pedodeid suewnoog 110N30¥d | S % NOILJO ,dwbijuoisng, dav|61/91/6] 6 | 5|88 5|8 &
.E
4
g
4 4
—_
= &
s, ¢
= I
oS 2
]
Oa < M m
o WOLLOg M
P J.......p........&v. 'e)
W30 2%F
3™ ~ a
p[Ie N M
A 1 ol D
o3
x
5
[ o
= =
I e
L. -
o o
& & &
> >
R 0]
3= 3
(%23
&
= 2
S 2 , .
in =
S s & O
=z T 9 5
) =3 ©)
[4 [EX] i Ll
O L = 2 A
& = n « e
274
o] a) X : 0]
S % } ) <
=z = N m
< m 2
(o]
W99'C
€)
SZ
o=
o0
3 g
=4
Qx
=2
<
(I, W =
@ & 50
25 <
=3
oN-
@D dOl
5 Z
&
&
[
5
a
S <
2
3 %
s &
[+
2 <
9 T v O<
3 E2 w o~
= o & > >
~~ [TN] E
w9 s —_
> o 23
5 O Sz o
To Q ®0 Q= =
> W = TF o 3
D o o} - L < L
3O Z z = —
1 [%] -— O
=< Q 2 S <
0 O = M
* Q —
= \ =
=

22 'BMp'S9-p9Lp-X1\PazZe[D Masul 8107 AZ\sBUMeIQ - DN(ZL-L-11 "dX3) 04S-4Q - 1AL\SU] J0 3daq sexay - g\ININVINYId BINPUI\SIULD\Y



"ON] SINVLATINENDD aNiaing "m'sy 2102 @)

2S811L—d # NOLVMLSIOEY 40 3JLVOL4ILNEO - SNOISIAGY
SHIINIONI WYNOISSIONd 4O Quvos SvxaL szo,%«\&maﬁ%%wﬂ@ﬁa Ad 31vad TONfoy| - 8~
L6L6°659°C18 FON Suoud S TS _ONIYINOLAY 030a¥|gL/9z/Li] L || |X5|w | 3
M b —I. 4 L.
sesee 14 oouoA ogz xea o'd ff]) ‘AIBWISSY H0 1dvd ['§77| JaNidvD Nid TvOvellSy MIN 0av| 6L/s/s | 2 |= 5 L5
"ONI ‘SINVLINSNOD ONIgHNG g S SUIOHSFYHL_03aav[91/Sz/0t] £ | <=| 2 | 3_
SI1|AINO 03Zv19 1¥3SNI 01 aIsin3d|gL/zo/it] v |™] | & | & le ¥
STLYOLF “T'd SvXaL VeNAONS 3000 0i/281_810Z 0L 31vadn al9laleE | B
3d .«Echmwm 4 Uopukl  :Ag peiodesd spuewnsog 110NA0Yd [S37 % _NOILJO ,swoijuoisny, adv| 6179176 ¢ | 5|53 5|8 &
/- /7
5% "
..(..Ou(?./..( Mm m
S5 ROISS 5 WATIAE =
T E 5T 2 WOLLOg - s
LAENS ...O& A 3 O w
..QJW \ H......xx ™~ =g
FE cnoain® « | <3
gwi o e AOONML.E -
p D oaeeet Ve P ey - « \ |
Ry PHOS, ue ivo 1l -
ARSI irg G =
nmw ...... \ ..Sn.& | L.QI o A
me#n, 4 ...“W.«V/muw. i & P m
Uy O teemmener Y s o] 3
:55.@» wo,ow?uc le:| w/ -
T 11t S xﬂ Y]
o &5 3
= ” _ o2
2 npe
8 h 3
H % TO v
3 < :
=¥ m =
< = o
o 3 S
o 3 &
o B >
by “
2 ®
S .
8 _ 821 |
_ _ -
2
=
£ m Y %
e ; 2 « 3
I < o) 5
T 8 < b ol
‘ o 8 N S
= Q %) % &
i) - S <
o o (=
o < °
o =z
e Q
I [2°4
O -
P
< 59T
2 g
(%]
= = i
;o g B 3
- X ul [ ~ A [ER]
O - 0 =
55— L] ') T
= > o O
@ <
) - ¢ = =
Q m W - -
Q. = U w
s O & g =
2 9 N A
Q (5] >
— 8= &
Q ~0
dolL 22 % 2
© T ** S
3 EE
= &
m [ %] S -
j1 ] O 1
o = e =
- Q wy s D
NO b @0
=a 3 *
~ 0 L )
=< O Z o
a3 £ g ‘ _
*x Q &
SN-w 0 <
A Q
/ © 0
5 O <
x Q - n %
g = K5 £ 5
S E o 2 <€
Y x o ‘€ =
—| S o 3 5 =
/7 — 77—\ x o < Z
2 X RV ; . = | =
&) L) o=\ I\ = G o O
.,.“. l\ / T ln..l'f T H 5 w P
A WY - Q0 —
§ o - —I
£ g 5 D
5 - 5 =
< S ) 3 w
1 o] O m T
oo
¢ 2 <
o Q9 §
2 P : P
] m -
2 E 3 5
3 = < =
[¢5]
5 N/
> . — L

7€ 'BMPS9-poLp-X1\PaZeID Lasu| 8L0Z AFu\sBumeld - DN(ZL-1-11 "dx3) 0£5-¥Q - 1Q1\sUl Jo 1dag sexa) - S\LNINVINYEId BINPUI\SIUBIDNY



‘ONI SELNVLIABNGOD BNIaTng M 2102 ©

SNOISIAIY
2G8L1—d # NOLVELISIONN 40 ILVOIILLNID mMZ(OE&DI mE.Sé;qu TIva TON
SHIIANIONI WNOISSIIONd 40 QuvOog SvX3L Ag o~ " ©
‘seoCLg i SIVL30 Wovalsy S TS ONUYINOILYY d3aavisL/9z/11] | N < & S r_
G655 14 OoMIDA OCZ X08 O \Sv AMBNISSY ¥0 Luvd | S1| 3HNIVO Nid TvovellSv M3N 00Y| SL/5/5 | 2 ||\ e
“ONI “SINVLINSNOO SNIGINgG Mm S47 SUIOHS3¥HL 03aav|9L/sz/0L] € I NEER 4_
SAT| AINO @3ZVvI9 L¥ASNI 0L Q3sinddigi/co/Lt| v |™ G B|5(2 =
CZLYOLF 3d Swxal vanans - 3000 0d1/081 8102 0L 31vadn g12¢|%|2 m
A'd WPIUYDS 4 Uopukl  :Ag pespdesg sjuswnoog 12N00Yd | S47 % NOUJO ,8wbpijuoisnd qgavi6L/91/6| 6 |S1318|35(5 &
57474 :
el
555 WNO/ge 4 "
P hu .............. m
S8 NP L HENID d
S IR 5y
g5 gzl Lhf 3 =
€ evsiaaguasarareret sttt o pral 7
2 l0INK0S 3 NONALE 2 5w
G irz & 3 =g =
SE M/wmm SrZ _ aa <z 3
b3 e .. «*
S o F | woLlog 5
Loltengqanr®h, ~
STkl | g
TR PR— m
= s 3
: X % a
ol
=
)
4 S
[ [%¢)
= =
P i
o o
w3 > <
_.Nm.olv_ _AI 2
—
2 o 2z
= & o |- =3
<C aOI r~ =4 4 s S
Q) b= Ot jur B iy
< R 5 << @
2 8 A &
z o L i = Z
ne n% o o~ « <
O - < —
A =z =y <C
o) o R)
I -t % <
g = A . &
< <
3
P
=
= (7] D
3 E o 2
— =z & <
B = < 5
ZZ 0o o
<9 Ea
o> = 0
ol Z m =
1. “
A0
ol
o
_-m-O"l_ —.‘.'ln
=z
o
f—
O
- [¥N}
= R J, 2
& 2 n Lo <
o W O
55 \ + | g
rV—v._ o -2 = = )
% ® <3 3 <l <
u= 28 o
%z w 3= W S G
50 S <C
8 ~ 597 o’
x®Z 3 —
feuliy g 7%
5= Q <
: Z
o7
| ¥ <
0
3 Q
- 3 &
=z = > %
o &
S [ry] U
L9 == T
=0 of Lt
[~a]
3#* O D - A
x3 YE
- B =
= =
=
s T

T BMP59-p9Lp-X1\PazZe|D Lasu) 8L0Z ATuNSBUImMeIQ ~ D\(LE-1-LL “dX3) 0LS-¥Q -.1AL\SUI JO 3daQ sexa] - \LNINVINYId BnpuI\SIuBID\Y



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4164-65.dwg, 5.2

[WOOD COMP.) \ 2.09°

STILE

17

1.6"

35.75" MAX.
PANEL WIDTH

21" MAX
D.L.O. WIDTH

LOCK BLOCK
(12.0" HIGH)

)/

e —

=)

i "

INTERIOR

-
¥/

STILE

(WOOD COMP.) —\

TP v—

95.25" MAX. DOOR
PANEL HEIGHT

79" MAX
D.L.O. HEIGHT

—

NeJaannr

EXTERIOR

71"\ HORIZONTAL CROSS SECTION

\2/

#6 X 1-1/2" PH SMS

INTERIOR

\

A

P I AL e

@\\\

1.6"

GLASS BITE 1/2"

—1/2" NOMINAL GLASS THK.
1/8" TEMPERED GLASS
/

ey e—

s s e A

+%_ — AR SPACE

-~

¥/

Xl 1111171711 17111717/

Ny
=

SEE
HARDWARE
TABLE

MASONITE
Insert glazed
{fiberglass)

EXTERIOR
LOW TACK SEALANT

~~—1/8" TEMPERED GLASS

STEEL SPACER
Q'SO SEALANT

\ GLAZING DETAIL

Gl

Lip Lite Insert Glazing

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES {991)
DEADBOLT: KWIKSET SIGNATURE SERIES (980/985)

TOP RAIL
[WOOD COMP.)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

1.7"

FIBERGLASS SKIN

(0.075" MIN.) _\

¥/
INTERIOR j EXTERIOR
”I
FOAM CORE :
POLYURETHANE | |
BOTIOM RAIL
(WOOD COMP) ™| ?
N

-—1.75" J

@ VERTICAL CROSS SECTION
2

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By
thone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—-11852

ENDURA

DOOR PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS
BY

LFS | PRODUCT:
LFS

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE [LFS | PART OR ASSEMBLY-:

11/07/18|REVISED TO INSERT GLAZED ONLY |LFS
11/26/13|ADDED ARTICULATING SILL

10/25/16|ADDED THRESHOLDS

5 19/16/19 |ADD "FusionFrame” OPTION &

1

< [N

NO. DATE

oate: 7/03/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4165

SHEET 5 oF 8

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 insert Glazed\TX-4164-65.dwg, 6.2

2 2X FRAMING 2X FRAMING i,
G>=0.42 (G >=0.42) %
6 N6/ (\ ) / DRYWALL " / DRYWALL R
| > y [l extsHeatiNG  fls EXT. SHEATHING  }l]/A ws = 3;
’ / ¢ A g ;
J/ )/ N i i ks s
/; // J! a ) é g ;:—. g E
’ | #10x2-1/2" PRH ' gR® 99
4 / 0>J‘ O~ - Eg
il T~ WOOD SCREW ' s 9%Z ,°F
y o Z0, o%
| I 174" MAX. 1 g 24550
¥iiid 4 L D2V e @ E
SHIMSPACE ™| ¥ T~ 410X 3" PFH £ Rt K
; 5 %— ]/ " MAX./ WOOD SCREW g § gé
SHIM SPACE E R4
X X | 3 F
o > 00BUoo 8
1 1
—4} DOOR PANEL DOOR PANEL
\6/ \ HEAD: PINE \ HEAD: "FusionFrame" (1-PIECE) 2
: S
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
QEBD/PE 650 QEBD/PE 650 RIS
\ (QEBD/PE 650} \ ( ) s | ;g
// // EXTERIOR INTERIOR EXTERIOR INTERIOR § % é(‘z
/ 7, R — ———————— - S =
' / K I /" 2"\ VERTICAL CROSS SECTION (3" VERTICAL CROSS SECTION o s¢
w Outswing shown - inswing also approved W Outswing shown - inswing also approved e o &
> q 2 E T
O x
o <C
0. Q.
NN - =] |=— C'SINK :
CORIER PADS SHIM SPACE TYP SHIMSPACE  ExT. SHEATHING a3 |&
(TYP ) ( .) [ H " ) o2 >
) EXT. SHEATHING JAMB: "FusionFrame’ I|0[°| K
(1 OR 2-PIECE) z1213] IS
JAMB: PINE \ 25K |z|E
e ! e a9 v
075" —=—— 075" -+ [~——t-075" ==== 40)( 2.1/2" PFH #10X 2-1/2" PFH rﬁ S S SiopR| 1+ o
| R, — |~ WOOD SCREW ULTIMATE HURRICANE ASTRAGAL WOOD SCREW 22 EISI3El ©
ULTIMATE FLIP LEVER ASTRAGAL SRS 2
2X FRAMING ULTIMATE MULTIPOINT ASTRAGAL tLERIEE B
o - \ (QEBD/PE 650) ENDURA WEATHERSTRIP (G>=042) |3llo/FIFI<
» CAP . DOOR PANEL (QEBD/PE 650) | . ~Dl2lRlZ|e
\ Q= o Qa0
% ol NI
3 0 @ 21,2
~ NEN N
M ~ o NIRINCl=
= N S R Z SESNENE
B:] LVL / / ; / - S \ 0 v—ht\l*‘cz)
D! DRYWALL / \ \ SeywaLL |2 7/03/12
#8 X 2-1/2" PFH #8X1"PFHSMS #8X2-1/2" PFH LATCH #8 X 1" PFH SMS #8X 2-1/2" PFH scaE N.T.S.
—l 2 | e 195" | WOOD SCREW S HINGE WOODSCREW , o+ 1wppy STRIKE PLATE NG WOOD SCREW owe. B, UK
IAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS o o LFS
AMB / HEAD JAMB / HEAD DRAWING NO.-
JAMB / AMB /HEAD —  JAMB /1 HORIZONTAL CROSS SECTION K
PINE FusionFrame' FusionFrame \U Inswing shown - Outswing s approved TX—4165
(1-PIECE) (2-PIECE) _ —

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17)\C - Drawings\REV 2018 Insert Glazed\TX-4164-65.dwg, 7.2

INTERIOR A\ Y EXTERIOR
DOOR PANEL
/( L
ENDURA
DOOR SWEEP
/{}? (DBKR)
¢

W\ EXTERIOR

INTERIOR

DOOR PANEL

ENDURA \

DOOR SWEEP

(DBK-ZAC) \

ATHERST DOOR PANEL |
WEATHERSTRIP
(QEBD/PE 650),  NTERIOR Y/ EXTERIOR \
ENDURA
WEATHERSTRIP,  INTERIOR //
11 12113 (QEBD/PE 650)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

L

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW
/" 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR

174" X 2-3/4" ELCO OR ITW CONCRETE SCREW
7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION

W inswing Articulating Threshold

w/ Pin Capture

\7/ Outswing Bump Threshold

\U Outswing Bump Threshold

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

= | : L — 1 T |
! 456" | 4.56 [ 456 | l 456" | , 456" |
1 INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAl4565RDS
MAX. DESIGN PRESSURE = +40/-45 PSF MAX. DESIGN PRESSURE = +40/-45 PSF MAX. DESIGN PRESSURE = +40 PSF
in in > o
i, ] 3L MR
! 456" ! !— 454" ! ' 4.56" ! ' ! 456" — ,
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
6 IACL4565 7 ZACA4565EN IACLAA4565 IACAA4565FN IACA565RDS

MAX. DESIGN PRESSURE = +40/-45 PSF

MAX. DESIGN PRESSURE = +40/-45 PSF

MAX. DESIGN PRESSURE = +40/-45 PSF

MAX. DESIGN PRESSURE = +40/-45 PSF MAX. DESIGN PRESSURE = %35 PSF

! = 4 = ! 2N
= ~ = -
i f * i
L———-—————m 456" l L‘M 4.56" ——‘*’l ! 4.56" ! L 4.56" [
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD
Z0OBL4565 LIOB4565FN Z0B4565RDS FOB4566

%3]
=
=}
—
O
o
)
<
& . A
] > 8
2 |
pd m
[} = ©
77
<
g S
.. =
= o
3 Qc
3 o8
el |&
0. 0
o olelehs
- 3 QRN [} e
wi>| fw
ol |«
38| 2
Solal 1%
O
Slel [C]
E\S =l
alo =5
ol@|O] |& w
= HU)_‘,QZD Z
oXlEISISIE 1©
Elolnlolg|s| @
) w
SNz |
= =D
Llol~ [Hln|0
SN
)
,_E;'i"o'"!.%<
SIS HInIZ(a
Oiwl W
Q‘l'aooa
alRPluio|gid
<| &<
(e} Lap}
SENNEN
RESRNEE
- <
N
NN
e} \f")N"‘%
oaTE: 7/03/12
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—-4165

SHEET 7 oF 8

© zo1z R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-570 (Exp. 11-1-17\C - Drawings\REV 2018 Insert Glazed\TX-4164-65.dwg, 8.2

HEAD ANCHORS:

Bu z #10 X 2-1/2" WOOD SCREW [PINE JAMB)
O 2X FRAMING #10 X 3' WOOD SCREW (1-PIECE JAMB)
o> (BY OTHERS) &
O 8 N 2" = )
~0 P 1" :
“ \ (TY )4 #10X 2.5" PFH WS
! TYP) $ 7
] SEE HINGE x : ‘//
I T EE:;‘/ DETAIL 1 — - —T RS ["o j =
3 SEE DETAIL 1 - s 8
3 - n—
& e ASTRAGAL STRIKE
DETAIL1  PLATE @ HEAD JAMB
% 1 ' T 1
B 3 N JAMB ANCHORS:
d #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB)
I #10 X 3" WOOD SCREW (1-PIECE JAMB) N
© s 44—
2
0 P Z
SEE HINGE el ]le
F- DETALL 2 #8X 1" PFH WS é_:. il
B - T 4"X
N\
\
' SEEDETAIL2OR 3 . HINGE DETAIL 1
iR * ' T
% 77 SILL ANCHORS: =
4 (4Tj (PT\)(PT #10 X 2-1/2" PFH WOOD SCREW A ‘j
' 4" (TYP.) 1/4"X 2-3/4"ELCO OR #8 X 1"PFHWS 4- | @
FLOOR SUBSTRATE MATERIAL ITW CONCRETE SCREW o Hlo
HINGE JAMB CONCRETE {MIN. 3000 PS) M~ 4x
WOOD (G >=0.42) FRAME ANCHORING \
XX
JAMB NOTES: % )
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMSB. ESQ%TPHE ??SS*;OR REQUIRED HINGE DETAIL 2
THE Fusionframe” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. . .
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints. 3/16" X 2-3/4" ITW CONCRETE SCREW :
2. Concrete anchor locations noted as "MAX. ON CENTER must be adjusted fo OR ASTRAGAL PIN CAPTURE
maintain the min. edge distance to mortar joints, addifional concrete anchors "
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT {UNDER CAP)
3. Concrete anchor table: ASTRAGAL STRIKE
RS, " MIN..CLEARANCE PLATE @ SILL \ 1/2" DIA. HOLE {IN CAP)
=Y © 7 © A
mw LPRY; .
TAPCON® | 3/1¢° 1-3/4° 3" 1-1/2" == = = >
'Tw " " - 1 ”
1APCON® | 1/4 1-3/4 1-1/2 4
ELCO . . . " 1/2" DIA. HOLE
utracon® 14 1-3/ 1 4 DETAIL 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vdalrico FL. 33585
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

7 #8X 2-1/2" PFH WS

— #8 X 3/4" PFH WS

ENDURA
FRAME ANCHORING

P #8X 2-1/2' PFHWS

LFS | PRODUCT:

LFS
LFS
Y

=
= #8 X 3/4" PFH WS

UPDATE TO 2018 IBC/IRC CODE

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE [ LFS | PART OR ASSEMBLY:

11/07/18|REVISED TO INSERT GLAZED ONLY | LFS
11/26/13|ADDED ARTICULATING SILL

10/25/16ADDED THRESHOLDS

5 19/16/19 |ADD. "FusionFrame” OPTION &

1

4

MmN

NO| DATE

REVISIONS

OATE: 7/03/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4165

SHEET 8 ofF 8

© zo12 RW. BUILDING QONSULTANTS IND.



